
492160 - RO 150 FEQ 230V

страница 1 от 3

26.5.2014http://ekat.festool.de/EKAT-Service/jsp/main.jsp?select=currentImageAndPartlist&do...



Pos Teile-
Nr.

Benennung Menge Preis 
ohne 
MwSt

Preis inkl. 
MwSt

Lager-Code Garantie

1 497770 Anker 1 84,50 EUR 100,56 030-H2-302 Ja

10 400528 Linsenschraube 4,0 x 30 mm 4 0,60 EUR 0,71 Ja

11 493913 Protector 1 11,90 EUR 14,16 Nein

12 494066 Klinke 1 7,23 EUR 8,60 030-MM -306 Ja

13 465559 Blattfeder 1 0,87 EUR 1,04 030-MM -412 Ja

14 494067 Zahnscheibe 1 4,44 EUR 5,28 030-MM -110 Ja

15 219075 Linsenschraube M4 x 16 5 0,60 EUR 0,71 Ja

2 494074 Feldpaket 230V 1 28,83 EUR 34,31 030-H2-301 Ja

20 500065 Getriebegehäuse 1 47,61 EUR 56,66 Ja

21 465174 Getriebedeckel 1 17,78 EUR 21,16 030-H2 -501 Ja

22 400743 Rillenkugellager 1 5,76 EUR 6,85 030-MM -312 Ja

23 472770 Deckscheibe 1 0,60 EUR 0,71 030-MM -107 Ja

24 465175 Exzenterscheibe 1 30,77 EUR 36,62 030-H2 -403 Ja

25 200920 O-Ring 1 0,60 EUR 0,71 Ja

26 465171 Welle 1 14,82 EUR 17,64 030-MM -405 Ja

27 400748 Rillenkugellager 1 8,22 EUR 9,78 030-MM -210 Ja

28 465112 Zahnrad 1 5,75 EUR 6,84 030-MM -305 Ja

29 465113 Hohlrad 1 10,42 EUR 12,40 030-MM -506 Ja

3 494387 Schalter 1 14,19 EUR 16,89 Ja

30 465176 Exzenterdeckel 1 17,94 EUR 21,35 030-MM -505 Ja

31 479745 Kugellager 1 21,16 EUR 25,18 030-MM -212 Ja

32 701217 Auswuchtgewicht 1 3,62 EUR 4,31 030-MM -507 Ja

33 219069 Linsenschraube 3,0 x 12 mm 1 0,60 EUR 0,71 030-MM -209 Ja

34 465360 Luftführungsscheibe 1 1,17 EUR 1,39 030-MM -109 Ja

35 469856 Dichtring 1 0,60 EUR 0,71 Ja

36 470090 Kugellager 1 8,00 EUR 9,52 Ja

37 469459 Hülse 1 0,96 EUR 1,14 Ja

38 467884 Ventilator 1 1,57 EUR 1,87 Ja

39 228672 Rillenkugellager 1 2,69 EUR 3,20 010-PP -604 Ja

4 489421 plug it-Kabel EU 1 17,80 EUR 21,18 070-B4-702 Nein

40 444018 Magnetring 1 0,65 EUR 0,77 040-PP -402 Ja

41 465469 Motorgehäuse 1 6,79 EUR 8,08 030-H2 -505 Ja

42 465565 Hebel 1 0,60 EUR 0,71 030-MM -606 Ja

43 465561 Schaltgestänge 1 0,60 EUR 0,71 030-MM -608 Ja

44 400827 Sicherungsring 1 0,60 EUR 0,71 Ja

45 494062 Kohle (Paar) 100-230V 1 10,56 EUR 12,57 030-MM -308 Ja

46 219031 Linsenschraube 3,5 x 10 mm 4 0,60 EUR 0,71 Ja

48 493405 Electronic 230V 1 32,45 EUR 38,62 030-H2 -402 Ja

49 465470 Kappe 1 4,36 EUR 5,19 030-H2 -202 Ja

5 489927 Steckergehäuse 230V 1 4,64 EUR 5,52 030-MM -307 Ja

50 219068 Linsenschraube 3,5 x 25 mm 1 0,60 EUR 0,71 Ja

51 493039 Absaugrohr 1 4,16 EUR 4,95 Ja

52 494063 Bajonett 1 11,41 EUR 13,58 030-MM -208 Ja

53 479703 Manschette 1 3,26 EUR 3,88 030-H2 -401 Ja

54 496147 FastFix Schleifteller 1 42,50 EUR 50,58 030-H2 -303 Nein

страница 2 от 3

26.5.2014http://ekat.festool.de/EKAT-Service/jsp/main.jsp?select=currentImageAndPartlist&do...



55 487865 Zusatzgriff 1 7,00 EUR 8,33 030-H2 -101 Nein

58 400552 Sicherheitsschraube 2 0,60 EUR 0,71 Ja

59 400904 Linsenschraube M4 x 18 5 0,60 EUR 0,71 Ja

6 400174 Linsenschraube 3,5 x 22 mm 4 0,60 EUR 0,71 080-MM -101 Ja

60 500063 Anker 1 46,93 EUR 55,85 Ja

7 494064 Drücker 1 5,08 EUR 6,05 030-MM -111 Ja

8 494089 Gehäuse-Satz 1 13,86 EUR 16,49 030-H2 -201 Ja

9 465465 Schaltknopf 1 0,71 EUR 0,84 030-MM -607 Ja

страница 3 от 3

26.5.2014http://ekat.festool.de/EKAT-Service/jsp/main.jsp?select=currentImageAndPartlist&do...


